 Choose Set A or B and complete the Maths stories by colouring each square in the correct colour. 
Set B is more challenging.
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Christmas Multiplication
Tables and Division Facts

Solve the calculations to reveal the hidden picture.
Each answer has a special colour.

Red Black Blue  Yellow/Gold  Purple White
lor2 3or4 sor6 7or8 9or10 11or12

3:3 | 4+2 | 545 |15:3 [ 651 | 1052 [66+11 5511 1242

1045 | 848 | 6+3 [24+4 | 5+1 [35+7 [60+12| 3045 | 204

9:9 | 12+6 (11511 2555 [40+8 | 741 [ 54+ | 2453 | 4549

201 | 747 | 8+4 |60+10[ 3244 | 3656 | 48+6 |72012] 2844

14+7 [12+12| 18+9 | 3046 |50+10[ 35+5 | 1642 [s4s12| 4257

7747 | 60+5 [ 2252 | 18+3 | 18+2 [100+ 10| 64+8 | 45+5 | 1041

1244 | 24+6 | 1846 [ 3547 | 56+8 [ 56+7 | 14+2 [80:10| 77411

40+10(30+10| 32+8 | 48+8 | 36+4 [ 30+3 | 8+1 [ 7047 | 6357

4+1 [48+12| 1243 [ 16+4 | 50+5 [108+12| 4957 | 2743 | 2042

2045 | 15+5 | 8+2 [44+11| 54+6 [120+12| 4045 | e0+6 | 8140

Challenge question: Write as many calculations as you can using whole numbers that
begin 24 +.
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Christmas Multiplication
Tables and Division Facts

Solve the calculations to reveal the hidden picture.
Each answer has a special colour.

Brown Blue Red Black Green White
1-5 6-10 11-20 21-40 41-80 81-100
36+4 | 6+2 [16+2 | 18+6 | 4x2 |60+8[27+3| 222 [12+2
5x2 [45+5(35+7 [26+4 | 3x3 |14+2| 1x5 [21+3[18+2
3545 |36+6 | 56+9 | 3x1 [12+4 | 27+9 8149 |64+8[50+5
4x2 [ 1x9 | 8+2 [26+6|32+8 |15+3[18+9 [30+5 [42+7
48+8|10x1 | 4x1 [10%10[10+2 | 119 | 1x1 |16+2 [63+0
30+5|24+8 [ 15+5| 6x6 [12+4 | 4x8 [10+2| 9+3 | 3x3
6x7 | 2x2 | 25+5 1246 | 16+8 | 6+3 | 5x1 | 4+2 | 5x9
8x8 [5x10| 6+6 [ 3+1 | 8+4 [10+5|18+6 | 826 [10x8
6x10 | 12x5 [ 15+3 | 18+9 [ 8+2 | 3x1 [12+4 | 11x6 | 8x7
7x9 [5x11| 9x8 | 4x4 |36+3 | 9x2 [10%7 | 726 [7x11

Challenge Question: What is the relationship between 6 x 10 and 12 x 57





